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QL. Let the following data be written to the physical disk drives: _ [co1 3]

Q2.

Q3.

Q4.

Qs.

Drive #1: 00101010
Drive #2: 10001110 (Data)
Drive #3: 11110111 Data)

{Data)
{
{
Drive #4: 10110101 (Data)
(
{

Drive #5: -------- Hot Spare)
Drive #6: --------

Every time data is written to the data drives, a pél'ityi _ivalue is calculated in order to be able
to recover from a physical drive failure. Caleulate the parity block from the above given
information and where this block will bezs{tored';" and Why?

Design the following RAID levels and calculate their available capacity: (ANY TWO) [CO2] [3]
a) RAID 100

b) RAID 55.-
¢) RAID 60

On the basis of characterlstlcs functions & role, compare the following: {CO1] [3]
(ANY TWO) -

a. Class 1;;_(;1:&85 3 & Class F services of Fibre channel.
b NL =Pott, FL — Port, E — Port and B — Port.
c. FC 0, FC1 and FC3 layers of Fibre channel protocol stack.

Apphcatlons may require different levels of service and guarantees with respect to delivery,
connectivity, and bandwidth. List the various classes of service support these tasks. Which
class of service is preferred mostly and why? Explain. [CO3] {3]

Explain the role of frame header in frame. How much transmission words are occupied by
frame header and also list the various fields and their roles which make the structure of
frame header. Support your answer with proper diagram. [CO3] [3]



